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Grade 9 Assessment of Mathematics Multiple-Choice

1. The frame of a picture measures 60 cm What are the dimensions of the
by 30 em. The border around the picture picture?

is 10 cm wide. O ‘Qhﬁl :@A,O‘ 0
A )40 cm x 10 em
=4D
width= 20 ~10-10
=1{)

B 50 cmx20cm

x 50 cm x 30 cm

30 cm

K 60 cm x 30 em

' 60 cm ‘

2. Tim shows the steps he took in In which step did Tim make an error?
simplifying the following algebraic @ Step 1
expression:
6 G Step2
2,3 _

T:_%ET/QAOU\U' !9(’. a H Step 3

J  Step 4
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Grade 9 Assessment of Mathematics S!ope o‘f d; Shme :ume graph = gwed Multiple-Choice

4,  Nicole rides her bike to school in the
morning. She stops at a store for about ol
5 min when she is halfway to school. & d’\ Once u{\ __;3) bﬂ FL{ ()
Which graph below best describes this + LP m ‘2 4 aC

situation?

ad VTU% H‘IUJ/'”’O)

F 6 X H Desnt
. Bock ¥ X 3 3}0 3
E X hore | ‘ é / g /-"’F £ ,/'7\
_ ; = :
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Do Time * 0 Time ) 0 Time = 0 Time nhfr(ﬁji_»_q_a)

5. IfAis(3,4) and Bis (7,12), which XA (3,5

point is on the line segment AB? X B 4.8

1 . | X C 5.9
(5}(0)
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l
|

X

A

=N~ ®OO

1234567860 "

Grade 9 Assessment of Mathematics Open-Response

6. How High Is It?

The cylinder pictured below has a surface area of 660 cm?.

A= v+ 2arh

_ _“‘r'gk_f___;i\_::fix'/ea\mmder~l‘} (60 = (T) 2 25(Dh
((: -.V‘GO‘IMS-7 J ) 6(9(): qu—Q- %\}4

L 660-980 = 140

Use the following formula to determine the height of the cylinder: / {960 *(1 3? . %

7 )4m

Surface area = 212 + 2nrh

Show vour work.
r

en =8
The oy ’mclf’f !’105 a LUZI h+ 677‘: about S o,
Check: &Trt']) +QT(7)(8) = 03T + lam =207 = &0
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Multiple-Choice

1.

Karina has a job at a video store. The total
she 1s paid each week is made up of an
hourly rate pllls $14 for transportation.

One week. she works 20 hours and 1s paid
$215.

Which equation represents the relationship
between Karina's total pay. P, in dollars,
and the number of hours she works, n?

F P=1075n+ 14 215 =4 A

@ o = 14n +X QO! ]O 05

= 10.05n + 14
X P=14n +

@

8. The table below represents a linear relation.

Tinﬁ_f_m% D .
4 D> y—m%erzqf"

~fl o

\/
15 must be 5
2 25
3 35
4 45

Which equation represents this relation?

x s On,\/ e;bua"‘mh

W D= 10t
() D=10r+5 wﬂ%#a+
W D=5+10 Y- wierep

of 5

Juan shows the steps he took in
rearranging a formula:

Given P=21+w) 4

Step 1 P=2l+2w é/hDM‘O\ be -
Step 2 P@Zl = 210)(

Step 3 —E;—ﬂ -

) P

Step 4 T +l=w

In which step did Juan make an error?
F Step1l

@ Step 2
H Step3

J Step4

10. AD is the angle bisector of ZBAC.
£ABD = 57" and £ADC = 80°.
What is the value of angle x?

x+90°+28= 120°
= 130"~ 50°-23°




Open-Response Grade 9 Assessment of Mathematics

Follow the Bouncing Ball

This scatter plot shows the relationship between the rebound height of a ball and the height from
which the ball is dropped.

Rebound Height vs.
Drop Height

Rebound height (m)

Drop height (m)

Draw a line of best fit for the data on the grid above.
Determine an equation for your line of best fit.

Show your work.

A% %L\O\A/)A a\co\/e) m=0.53 . W"FWP) “tha eZMqu)'om

st ake “the fon R=0.S2L+b, Since (4525)
[ies on the Lne, its co-ordinates must scfrl"ﬁt\/ The eVah'&m.

), RS =0.52(+35) +b
s X533 b

ny b = 92.5'*&.5% = 0,lb

Equation of line of best fit: ?\7 = O' 5;2-}’1 + 0" I(D




Grade 9 Assessment of Mathematics

Multiple-Choice

12. What is the equation of a line passing
through the points (2, 5) and (4, 11)?
X y=x-3 m= =2 .6 -2

—

-2 F

. Alex has $150. She spends the same Sla

amount each week. After 6 weeks, she must 'Z;
as | 3 § « i . e
has $30 remaining j paative

The relationship between the amount of bacaluse

., \ money Alex has and the number of weeks e
5" = O..Iy onc with o s 'Pe is represented by a line. What is the slo eﬂ\ﬁ".é\rws
p = Qe . j s his line? Hine menay
H/y=3x-1 CI Qck, QV\LS{‘J‘IL‘J'& of this —me /'(O IS‘O)Rﬂ Fimd. -
X y=4x-3 e a -25
X=2 =5 ()20 weekS ((0) 30>
Lis. | RS,
V=% ! Zx-| e
“3N-1 =9

14. Which of the following represents the graph

of the equation 2x — 4y = 8?
4 On‘\i ane L4
withthe G
correct

iMw¢¢5

15. The relation shown below can be
expressed as 3x + 4y — I80 = 0.

y= —'L.\' — 45.

Another way to write this relation is

3x+4y -[¥o=0

4
By as ﬂyf'gk+)%
* 5
» _1 f?O
= 8 X +
=—% + 60. e T
, S oy
.-:—;—_\*—(1(). o Y" ‘f?(ﬂfg

16. How would the graph of the relation

Y:gx_"g’\
Y=

|
Svleepur

S‘ul’k

(AN \\ l
% Cb"ul: o -
?# I i'\.'l'\g*d‘{-")»

The graph would be
o — o ‘) _..'

v = 3x— 2 change if the 3 and -2 @amcpcr and have a lower
were both doubled? Vv-intercept.

steeper and have a higher
p-intercept.

x less steep and have a lower
v-intercept.

less steep and have a higher
y-intercept.



Grade 9 Assessment of Mathematics Open-Response

17. Excellent Equations

A line is perpendicular to the line v = 2x + 3 and has the same x-intercept as
x+3y+10=0.

Find the equation of this line. Express your answer in the formm

Justify your answer.

@ Slop@ of y«——g’)('%g is ;)\

"y %’f'rnLﬁ-ch,Jr ot ’a’C—%g)uL[O:Og |
O \/ZO ('5",:('?* 01” ,DO;A‘LP an W X~4x1$ ACIVQ y-(dﬂdrff:m?{" 0>

X +3(0) + [0 =0
Y+ 10 =0
Go=={0

o) slope musk be T m=~% since this
ling is Perpendfwlar‘fo Y:Q’X*S
by must pass fhrowln the point (-10,0) since
+  has the samd O(—I'H—?rce}y# as ’X+37>/+/0=O
Tharefpre, the equation of the Mﬁ'm}@d ing Hatces
+he r{r\ f

\/.__,w—é,:owjg ;

Sine the hre pesses Through (‘/QO)/ Hhe co-ordimites
Of M;'f) }70,"»’]4 mM5+ 9&»‘1‘(7\3’)5/ Q?Mch{c?n .

P 0 - - (’}O\ 1‘b

S0 = 545

R
Tho slype-y-ictercapt aquafion of Yo lne is y=-%%-5



This line is also given. It has
the same x-intercept as the
required line.

Since its X-intercept is —10,
the required line also has an
x-intercept of —10. This
means that the required line

passes through (—10,0).

This line is given. The
required line is perpendicular
to this line.

Therefore, the slope of the

required line must be —%.

A4 12 1
/

This is the required line!
It is perpendicular to

y =2X+3 and has the
same X-intercept as
X+3y+10=0

-2

-B
-8
-10

18. Cellphone Plans

2 4

wjiJrlO:O

Serge is choosing a cellphone plan and wants the lowest cost. Cell-a-Bration charges $12 per month
plus $0.05 per minute for cellphone service. E-Phone charges $28 per month for unlimited minutes.

Cell-o- Bration: C=0.05n+12

Monthly Cost vs.
Number of Minutes

Yourt o

Totersechion
(330,343

. 'E”'PI‘\OHQ

20

16

Monthly cost (S)

t >
0 50 100 150 200 250 300{\350

290

n

Number of minutes

Serge should choose E-Phone.

Determine under which conditions Serge should choose Cell-a-Bration and under which conditions Z%
71(’; Wer AN

Justify your answer.

E-Puwne: C=2%
CB” p/zon@ c()m/mm()S C'/’wﬁé
H’UZ Same amwm“f/lﬁ/teh
0.05 n+12 =2%
’ ,’ (90‘7‘4 = /b

b
o e 0:09
y

—

g

n=330
Coll-0-Brotion i a Leffer

%mﬁu‘/’&f
dea| whes : : ,
ared_ausea/ g 1 E- */%[,'mg JS 4 éf‘fﬁ’r mf’é/

y%r VIOFE than 3&0 MK u‘?‘t’j,



19. In the diagram below,
e /DHG=x+20°
s /GHC =3x

e AB || CD

¢
£e¢

o+ X150 =180 (CD is a SHasght lin )
5 At do =190

\({", LCHG and LGHD
Lo = 60 aré. 3“}%1(?”*’”*“"}’

Zx =0

A®

8 %/ CHG =30°
LEGA':_ 120°
AT /g_ mf’fem

o

B 1%47" :s LEGA and
/. CHL are correqﬂvhdlj

paralle! Lo %—Q )

Determine the measure of ZEGA.
Justify your answer.

20. Teresa needs to cut a piece of wood in
order to make a parallelogram. She
marks a line on the wood where she will

sife m:rjil?)
a purs|lg
o(Vée?Flm Lﬁm

cut.

4 c‘u|, oles umjrﬁ"
S

What is the size of angle x?

=35

a 25°
@ 35°
c 45°
d 55°

,@x-: lo-90-55

~Heprem

21. Inez created the following table of values
hased on a relationship between x and y
and calculated the first differences. The

/A?‘/ 15

conston

values of y have been concealed.

First
ifference

11
s = y dpcreasts e
13
14 -3 7 @\j’ (‘_5 )
€an +ime X
Which statement describes the [ NCreq$es by

relationship between x and ¥?

= reloction is
x ¥ iic&s_s_es linearly as x increases. ll'VlCO\V

y decreases linearly as x increases.

x, ¥ in%'lses ggMeLﬂy as x

increases.

X v decreases no%near}y as x
increases.



Grade 9 Assessment of Mathematics

22.

Open-Response
What a Bargain!

Susan buys a tennis racket from a store.

* The tennis racket’s original price 1s $75.
» All tennis rackets are on sale for 25% off the original price.
* The tennis racket has a scratch. so she receives an additional 10% off the sale price.

How much does Susan pay for her tennis racket, including 13% tax?
Show your work.

Saxl@ (Pr‘\ce,
= 475 - 35% of HT7S
- 875 —0,35(475)

- %75 - $(8.75
= $§6.2§

Discourd ed Yice olue o Dmﬁe
— 450,25 ~10% of #56.a5°
— $50.25 — 0.10(456.35)

= #50. 632

Tido| Cost }ncludfmg Taxes

—_—

= #50.62 + [3% of £50.63

— K503 + 0.15(#50.63)
— 950063 + 406.5%

= 9457.A1

SMSG[V\ ’oa\/s $57,9] 7COV })er %enm's mckd.



